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SEREBA |BERE  [EERAZ  |BEERAZ ([EREEF) SEAHRAIA |SERREILE |EAEREE (TR | REIEK)
B8l BZFR #(B) (€) (D) (E) & EVAEL EVAEL EIE%E
(G=H+I)  |(H) () (J)
HES+ EEFHELRT 4 1 1 1 25.00% 1 1 0 EEY 100.00%
EBHHBR 4 1 1 1 25.00%| 1 1 0 naig 100.00%
BHBER T 8 1 1 2 12.50%| 1 1 0 EE1 100.00%
BBER= 2 2 2 0 100.00%| 2 2 0 EH2 100.00%
HEEEESR 7 1 0 0 0.00%| 0 0 0 -
HEEEESRT 5 7 1 0 20.00%| 1 1 0 naig 100.00%
RBEENIBRS 3 1 1 2 33.33%| 1 1 0 naig 100.00%
TERHBRT 11 2 2 5 18.18%| 2 2 0 EH2 100.00%
TERHBH= 3 1 1 1 33.33%| 1 1 0 EE1 100.00%
B SESHER T 8 1 1 6 12.50%| 1 1 0 naig 100.00%
B SESHER= 2 1 1 1 50.00%| 1 0 1 fEE 100.00%
BEBHT 12 5 5 7 4167%| 5 5 0 EH5 100.00%
BEERT 16 2 2 11 12.50%| 2 2 0 EH2 100.00%
E@En T 28 16 16 9 57.14%| 16 15 1 B E1 100.00%
EMEL= 5 1 1 2 20.00%| 1 1 0 EE1 100.00%
PEEMER T 2 1 1 1 50.00%| 1 1 0 EE1 100.00%
PES A= 3 1 1 2 33.33%| 1 1 0 EE1 100.00%
EEERT 6 2 2 0 33.33%| 2 2 0 EH2 100.00%
AmE+ast| 129 47 40 51 31.01%| 40 38 2 100.00%
EREEL EHBR=ER 6 1 1 2 16.67% 1 0 1 B 100.00%
EEEShEaER 13 3 3 9 23.08%| 3 2 1 A 100.00%
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ERBEA [BERE |[ERAE |BEAE |BREF) |[EABIA [SARIE [ERnaE [SARiE [HI%EK)
= BRER %(8) (C) (D) (E) % DAY |BAY  |EEe
(G=H+l)  |(H) () (J)
HEERL B EIE SRR = ER 7 6 5 0 71.43% 4 4 0 EER5 80.00%
BEEEER=ER 4 2 2 2 50.00%| 2 2 0 2 100.00%
BTS2 2 1 1 0 50.00%| 1 1 0 TR 100.00%
BES %R 13 3 3 7 23.08%| 3 3 0 TEHR3 100.00%
BEB =R 2 2 1 0 50.00%| 1 1 0 TR 100.00%
SwEz R 4 15 1 0 2500%| 0 0 0 0.00%
EwEz =R 0 7 0 0 1 o 0 0 i
PEEHBE R 4 22 2 0 50.00%| 2 2 0 TEHR3 100.00%
PEEHER =R 2 24 2 0 100.00%| 1 1 0 TEHR2 50.00%
SRS R R 2 13 1 0 50.00%| 0 0 0 0.00%
L 2 7 0 0 0.00%| 0 0 0 i
gEsLait| 6 106 22 20 36.07%| 18 16 2 81.82%
&t 190 153 62 71 32.63%| 58 54 4 93.55%
XARIBEBINEE®ELIEHE © 114.09.01

BREVR(F)=1EERAB(D)/5e R & A BU(B)
B R(K)=5e a2 A BU(G)/IEEXA (D)




